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D 2.05x12=246
® 20.5x12 =246

® 122+6 =246

@ 25x12=246

@ 25%x12=24.6
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@ 50,5,52.5 ® 50,6,5.25
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D 70,18,19.25 @ 170,20,1.95 ® 80,20,1.975

@ 80,20,19.75 ® 80,20,197.5
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D 19.92+8 @ 336+14 ® 2247

@ 42.3+18 ® 852+6
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8.01+9=0.89

@O 8.01+9=0.89
® 0.89-9=128.01

® 0.89+9=1.8.01

@ 0.89+9=2.8.01

@ 0.89x9=28.01




® 0.014+7

@ 14+7

D 14=+7

® 140=7

@ 0147



@ 5.95=7
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D 0843

@ 38.46+5

@ 53.29 + 18

® 16=6
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D 2.48+38 @ 42+4 ® 423+3

@ 126+9 ® 153+6
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6.3 + 18

D 035+18=6.3
® 3.5x18=6.3

® 0.035x 18 = 6.3

® 35%x18=6.3

@ 0.35x18=16.3
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® 12915

@ 19.68 + 4

@ 41.67+9

® 38.88+9

® 146.2 = 34
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D 042=6 ® 3.12=+2 ® 054+5

@ 6.4+8 ® 48+6
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D 96+24-1.2 @ 96+24+1.2

® 96-12+24 @ (9.6-1.2) =24

® (9.6+1.2)+24
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D 9+12 @ 6+8 @ 10+ 16

@ 30=40 ® 48 + 64



19. go = 3%34 33401011 Qi 2l oL A7}

@® 3.563 @ 3.547 ® 3.374 @ 3.295 ® 3.108
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@® 3.78 @ 3.135 ® 3.56 @ 3.98 ® 3.24
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